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1) KiE:#ET13. 0~13. 7C, EETS. 7~12. 5CO#MHICH-T,
2) ¥y F#ET32. 3~32. 8, KET32. 9~33. 8o#Hlch-o7=,
3) pH: 7. 9~8. 20#MICHY, A TKERHKERE (7. 8~8. 4) Zifi/-L T\,
4) COD: 0. 2~0. 8mg/L OHFIZH Y, A TKERKIERE PASENE @ 2mg/L LLT)
il LT,
5)D0: 5. 2~11. 3mg/LOFPHICHY, St. 2T TKEMKERE (6. Omg/LLLE) %
TEIS72A, NBEGOEZFERE CORENE (4. 3mg/LEL L) &z LT,
6) MR  KEEIILL T ORANICH o 72,
U UFEREY v (POsP) : 2. 0~16. 2pg/L
TrE=7fEEHR (NHsN) 0 0. 1~16. 4pug/L
dfHieiesE% (NO2-N) : 0. 1ARW~8. 2ug/L
iHieiez% (NOs-N) 0. 1Ri~139. 5pg/lL
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